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GENERAL INSTRUCTIONS
{i} This ques on paper carries 29 ques ons and 4 pages. All gues ons are compulsory.
(i} Ques on No 1-8 are Mulbple Choice Ques ons (MCQ). Each carrying 1 mark. Choose the
correct op  on and write it along with the statement in the answer sheet.
(ii) Ques on No. 9-14 are very short answer ques ons. Each carrying 1 mark.
(iv) Ques on No.15-23 are short answer ques ons. Each carrying 2 marks.
(v} Ques on No. 24-29 are long answer ques ons. Each carrying 3marks.

W 1.  Anelectroscope is a device which is used to kind If an object is 1
W Charged b. Magnekic
¢. Hot d. Free of cracks
-2 Onwhich of the following a toy car will travel farthest? 1
wnnr marble Hoor b. newspaper
\&4Vet marble floor d. carpet

3.  Infigure below, two boys A and B are shown applying force on a block. If the block moves
~ 7 towards boy B, which one of the following statements is correct? i
a. Magnitude of force applied by A is less than that of B.
b. Net force on the block is towards A.
l.,|:i("—h"ta\g|-|.‘ltumt of force applied by A is greater than that of B.
d. Magnitude of force applied by A Is equal to that of B.




4. The polymer which is used for making unbreakable plashe crockery is: 1

A Tellon. - Melamine.
c Bakelite. d. PVC
5. The metal used for galvanizabon is: 1
; : b. Copper.
1'5,/" Zinc. d. Aluminiem.

6. A microorganism X Is used Inthemaungnfham lnwliﬁdﬂmpmduc'ﬁnmiﬁhnk

~ required? 1
a. Chease ﬂlm
€. Curd d. Vinegar
7. The process of loosening & turning of soil is called. 1
¥ a.lrriga¥on & manuring . Tilling & ploughing
¢. Digging & winnowing d. Harvesting & storage
8. Under a microscope, Amit observes a cell that has a cell wall but no disbnet nucleus. The cell
“ that he observes is a 1
a. Plant cell b. An animal cell
c. A nerve cell ﬂ bacterial cell.

_/E/Inﬂmlﬂ'uﬂ name the cell organelle and pitmantthaﬂs ﬂbhfn-rgrﬁnwhm 1
jﬁWhvﬁn’tpiddﬂrim]henuwnlnthawhtarmn? jfﬂ jq a 'km.mja fhkj,m

11. Why is copper used for making electrical wires? 1.1
S 1 I ’ﬁ’”’“‘ toALLELEH % fuat.
ﬁwmm metal is the best conductor of heat ? £, L.

Name any one musical instrument which produce sound by vibrab'ng air parkeles, 1
Lt .
-/q./M:annammumﬂmllmmdumfrhﬁm .LLLbTi!iQS 1
ey, oLt , -
Montu is learning to play the guitar. To get the notes he presses down on the string of the
guitar at its neck and plucks the string further down. {1+1)

a. How do the strings make 2 sound? A1 bY atLom
b. What does the sound from the string travel through to reach Montu’s ear? 4:LLP1_

)ﬂ/ﬂmhﬂn two precaulions that you will take to protect yourself if lightning occurs while you
areo e the house? 2
ﬁwm{ mwj metal Hd@[ wynbyella_
O p sl toy cz St L‘;L).Ql—lm7 oloritm .




17. A snowboarder weighs 300N. The area of the snowboard is 0.5 m®. What Is the pressure on

e TSN O :

18. What do you mean by tensile strength of a kbre? Arrange the following kbres in the
/ increasing order of tensile strength.
a. Cﬂ‘(}ﬁn b. h‘g S g. 2
/9. There are two beakers A and B. Beaker A contains solubon of ferrous sulphate and beaker B
contains solubon of Zinc sulphate. In beaker A we put a zinc granule and beaker B we put an
iron strip.In which of the two beakers will the reachon take place and W?@ 2
»J..mnm Ao wngl beoeyne tje.umu

ters fwe (1o
Write any two advantages uf g@:hc Kbres over natural hrc!. 2

th does the milk that comes in packets not get spolit easlly? Explain. [0+ TeLBUGTLOvY,

Famurs in nnrthem India grow legumes as fodder in one season & wheat in the next season.2
?Hm
b. How does this prach ce help in reple the soil? Lty Q.{‘Jlmm

. Draw a neat diagram of Euglena & label its 3 main parts. ﬂ%jm 2
wdLp le

Write down the causakive microbe and mode of transmission of following diseases: 3

a.Typhoid b, Rust of wheat c. Polio

Sohan scab@red seeds manually in the Reld but his friend Raman used a seed drill.
a. What is Sohan’s method of sowing seed called?Whose method is adwntﬂmus? molmm»a
o S

b. Write of this meth
an-.rtwumfv%ntam m%iﬁmpeq e Hﬂrwr .

vﬁ Write the step wise formulae lhn fnllnwlng compounds. btV
. Magnesium phosphate. “,‘P
h Aluminium sulphate. Al GLD3
/ Calcium nitrate. Cal (‘ 3

With the htlpufhbehddhlﬂl!ﬂmhm an acbvity to show that a metal key conducts
electricity but a plece of rubber does not. ¢ Ty oLt . 3



28. _&ive reasons for the followings situaljons: amaa e { + C&ﬁi]
. It hurts to walk on sharp stones but not on round ones. = ’#; ,T UH.G
/h Birds take on a steamlined shape to dive into water and m:h G

c. Pieces of papers gets pulled towards comb which is rubbe
r-,Qg:ﬂM*'-"—y d"l{'. [:"5.- lﬂ'{"ﬂf i
:F]tw-""'“ Here is a bar chart showing the speed of sound {in mulipies of 1000 m/s } in dijjerent
materials A,8 and C. (1+1 +#1)

2. Which material s a solid? L B i
b. Give reason for your answer. spulnol  Travels 'J-a/quJ'L i doduds,

c. Mingemamnt;rhﬁhfmm.ﬁddlndf.
= B, C

SOUNDIN DIFFERENT MATERIALS
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